



(Autonomous Institution-UGC, Govt. of India)

NIRF Indian Ranking, Accepted by MHRD, Govt. of India Accredited by NBA & NAAC with A-Grade

Band Excellence National Ranking by ARIIA, MHRD, Govt. of India Affiliated to JNTUH, Approved by AICTE, ISO 9001:2015 Certified Institution AAAA+ Rated by Digital Learning Magazine, AAA+ Rated by Careers 360 Magazine 2<sup>rd</sup> Rank CSR, Platinum Rated by AICTE-CII Survey, 141 National Ranking by India Today Magazine National Ranking-Top 100 Rank band by Outlook Magazine, National Ranking-Top 100 Rank band by Times News Magazine

# Department of Electronics and Communication Engineering ACADEMIC YEAR 2021-2022

#### Dr.YARATHA MADHAVEE LATHA

#### **SCOPUS:**

[1].Dr.Y.Madhavee Latha,"VIDEO REPRESENTATION BASED ON OPTICAL FLOW", Journal of Theoretical and Applied Information Technology31st October 2021. Vol.99. No 20, ISSN: 1992-8645,E-ISSN: 1817-3195

- [2] Dr.Y. Madhavee Latha, "CONTENT-BASED VIDEO RETRIEVAL SYSTEM USING DWHT MULTI-FEATURE VECTOR", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022
- [3] Dr.Y.Madhvee Latha,"MULTI SPECTRAL CODING IN RADAR SIGNAL CONDITIONING USING RECURRENT SPECTRAL MAPPING", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

## Dr. T.S. GhouseBasha

**UGC** 

- [1].Dr. T.S. GhouseBasha,"AREA DELAY EFFICIENT RECONFIGURABLE FIR FILTER ARCHITECTURE USING MCM", International Journal of analytical experimental model analysis ., ISSN: 0886-9367.
- [2]Dr. T.S. GhouseBasha,"AN Architeture of Floating Point By Using Binary Signed Digit Representation", International Journal of analytical experimental model analysis ., ISSN: 0886-9367
- [3] Dr. T. S. Ghouse Basha, "IOT BASED PREPAID ENERGY METER MONITOR AND CONTROL SYSTEM USING RASBERRY PI", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 42-52, April 2022.
- [4] Dr. T. S. Ghouse Basha, "SPEAKING EYE FOR THE BLIND PEOPLE USING RASPBERRY PI,", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 700-707, April 2022
- [5] Dr. T.S. Ghouse Bhasha, "A SMART ACCESS CONTROL FOR RESTRICTED BUILDINGS USING VEHICLE NUMBER PLATES RECOGNITION SYSTEM,", The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 762-770, April 2022
- [6] Dr. T. S. Ghouse Basha,"IOT AND DEEP LEARNING BASED FACE MASK AND TEMPERATURE DETECTION CONTROL,",The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 789-804, April 2022

## INTERNATIONAL/NATIONAL CONFERENCE:

[7] Dr. T.S. GhouseBasha, "MODIFIED IMAGE SUPER RESOLUTION WITH ANCHORED NEIGHBOURHOOD REGRESSION ANALYSIS", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-

- 2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022
- [8] Dr. T.S. GhouseBasha,"ENHANCED CONTENT-BASED IMAGE RETRIEVAL USING GAUSSIAN-HERMITE MOMENTS", AICTESponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## Dr.NERINOORU SREEKANTH

#### **SPRINGER:**

[1] Dr.N.Sreekanth ,"Evaluation of Estimation in Software Development using Deep Learning Modified Neural Network" Applied Nanoscience (APNA-D-21-01959R1), springer.com. ISSN: 2190-5517

- [2] Dr.N.Sreekanth "IOT BASED INTELLIGENT HOME USING SMART DEVICES" Journal of Interdisciplinary Cycle Research, Volume XIII, Issue VIII, August/2021, ISSN NO: 0022-1945
- [3] Dr.N.Sreekanth "IOT BASED SMART AGRICULTURE AND AUTOMATIC SEED SOWING" Journal of Interdisciplinary Cycle Research, Volume XIII, Issue VIII, August/2021, ISSN NO: 0022-1945.
- [4] Dr.N.Sreekanth "RAILWAY SECURITY SYSTEM FOR TRACK FAULT DETECTION USING WIRELESS COMMUNICATION", Journal of Interdisciplinary Cycle Research, Volume XIII, Issue VIII, August/2021, ISSN NO: 0022-1945.
- [5] Dr.N.Sreekanth "SOLDIER POSITION TRACKING AND HEALTH MONITORING SYSTEM BASED ON IOT IN MILITARY ASSISTANCE AND SURVEILLANCE" Journal of Interdisciplinary Cycle Research, Volume XIII, Issue VIII, August/2021, ISSN NO: 0022-1945.
- [6] Dr.N.Sreekanth" A MOTIONLESS HAND GESTICULATION AND FACE RECOGNITION SYSTEM FOR BLIND PEOPLE" Journal of Interdisciplinary Cycle Research, Volume XIII, Issue VIII, August/2021,ISSN NO: 0022-1945. SCI:

[7] Dr.N.Sreekanth, "Machine Learning Enabled Techniques for Protecting Wireless Sensor Networks by Estimating Attack Prevalence and Device Deployment Strategy for 5g Network", has been accepted for publication in Wireless Communications and Mobile

Computing, Wiley Hindawi, ISSN: 1530-8677,2022.

[8] Dr. N. Sreekanth, "SATELLITE IMAGE ENHANCEMENT USING DISCRETE

AND LIFTING WAVELET TRANSFORMS WITH BICUBIC INTERPOLATION

ALGORITHM", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 118-

126, April 2022.

INTERNATIONAL/NATIONAL CONFERENCE:

[9] Dr. N Sreekanth,"ENHANCED CONTENT-BASED IMAGE RETRIEVAL USING

GAUSSIAN-HERMITE MOMENTS ",AICTE Sponsored 7th International Conference of

Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN:

978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February

2022

[10] Dr.N. Sreekanth,"MODIFIED IMAGE SUPER RESOLUTION WITH

ANCHORED NEIGHBOURHOOD REGRESSION ANALYSIS", AICTE Sponsored 7th

International Conference of Signal Processing, Communications and System Design-

2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy

Engineering College for Women.,February 2022

[11] Dr.N. Sreekanth,"ENHANCED BER ANALYSIS IN MIMO-OFDM-STBC

SYSTEMS WITH MMSE EQUALISATION AND ML DECODING", AICTE Sponsored

7th International Conference of Signal Processing, Communications and System Design-

2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy

Engineering College for Women., February 2022

Dr.SATHISH SUNDRARAJAN

- [1] Dr.S.SATHISH,"Motion Control For Mobile Robot Navigation Using Machine Learning: A Survey Complexity",International Journal ISSN: 1320-0682 August 2021, Volume 25, Issue 02, August 2021 pp2497-2511
- [2] Dr. Sathish," **SMART AUTOMATIC WATER DISPENSER SYSTEM BY USING COIN,**",Journal of Applied Science and Computations, ISSN NO: 1076-5131,Volume IX, Issue IV, pg262-265, April 2022
- [3] Dr. Sathish, "REMOTE MONITORING AND CONTROLLING OF AQUARIUM SYSTEM USING IOT,", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 695-699, April 2022
- [4] Satish,"THE HEART RATE USING IOT AND ML DRIVEN HEALTHCARE SYSTEM,",The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 821-826, April 2022
- [5] Satish," **DRONE DETECTION IN RESTRICTED AREAS USING OPENCV**", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

[6] Dr.S.SATHISH,"ADVANCED RAILWAY SAFETY MONITORING SYSTEM BASED ON EMBEDDED SYSTEM", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# Dr.MALLIGA LAKSHMANAN

## **SCOPUS:**

- [1] Dr.L MALLIGA," **High Speed Systolic Architecture For 2-D Forward lifting based DWT IC For Analysis of Covid X-Ray Images**"International Journal of Nonlinear Analysis and Applications.ISSN :2008-6822, Turkish Online Journal of Qualitative Inquiry, ISSN1309-6591, Vol. 12No. 10(2021).
- [2] Dr.L MALLIGA," Design and Implementation of RFID-GSM based Signal Jump E-Challan System using Raspberry Pi", Design Engineering, ISSN:0011-9342, pp10221-10229 Issue:8(2021).

[3] Dr.L MALLIGA, "Cascaded Multilevel Inverter with reduced Harmonic Distortion for Renewable Energy Application", Indian Journal of Natural Sciences (IJONS), Volume 12, Issue 69, December 2021.

## **UGC**:

- [4] Dr.L. MALLIGA, "FACE RECOGNITION USING ELECTRONIC VOTING SYSTEM", The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 742-754, April 2022
- [5] Dr.L. Malliga, "COALMINE MONITORING USING LORA AND WSN TECHNOLOGY", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 91-96, April 2022.
- [7] Dr.L. Malliga, "SMART BOREWELL CHILD RESCUE SYSTEM THROUGH WIRELESS MONITORING USING ARTIFICIAL INTELLIGENCE", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[8] Dr.L MALLIGA,"A Novel Modified Hexagonal Shaped Fractal Antenna with Multi Band Notch Characteristics for UWB Applications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

## Dr.MANTHANDI PERI ANNA SAMYMANTHANDIPERIANNASAMY

## **JOURNAL:**

[1] Dr.PERI ANNA SAMY,"V2V SYSTEM CONGESTION CONTROL VALDATION AND PERFORMANCE USING CAN COMMUNICATION AND TRACKING OF VEHICLE", International Journal of advanced research in science and technology,2022

# **SCOPUS:**

[2] Dr.PERI ANNA SAMY,"Performance analysis of multicast routing using multi agent zone based mechanism in MANET",International Journal of Nonlinear Analysis and Applications,volume 13,issue 13,pg1,isbn:1047-1055,2022.

#### UGC:

- [3] Dr. S. Manthandi Periannasamy, "A CLASSICAL ANALYSIS AND IMPLEMENTATION OF IOT BASED PEDERSTRAIN CROSSING CONTROL SYSTEM, ",Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg252-261, April 2022
- [4] Dr. S. Manthandi Periannasamy," **SMART ZONE BASED VEHICLE SPEED CONTROL AND TRACKING SYSTEM**",The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 812-820, April 2022
- [5] Dr. S. Manthandi Periannasamy, "AN IOT BASED CLASSICAL ANALYSIS, MONITORING AND MANAGING OF WATER PIPELINE UNITS", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 127-134, April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[6] Dr.PERI ANNA SAMY ,"AN ANALYTICAL APPROACH OF SYBIL ATTACKS IN COMPUTATIONAL AND TELENETWORKING", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### Dr.NALLATHAMBI JAGADEESAN

- [1] Dr. N. Jagadeesan, "Bit Coin Price Prediction Using Deep Learning and Supervised Learning Methodologies", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 88-94, April 2022.
- [2] Dr. N. Jagadeesan, "WI-FI BASED HOME AUTOMATION SYSTEM FOR FIRE ALERT AND GAS LEAKAGE DETECTION", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 135-148, April 2022.

- [3] .Dr.N.jagadeesan,"An Efficient MRI Lung Cancer Image Downsampling Technique Using K Nearest Neighbor Algorithm and Discrete Wavelet Transform",International Conference on ArtificialIntelligence and Computing Technologies in Agriculture and Rural Development (ICAICTAR-'21),International:978-93-92537-00-4,pg54-60,2021 & September
- [4].Dr.N.jagadeesan,"An Efficient Brain MRI Image Downsampling Technique Using Radon Transform and Genetic Algorithm international online Conference on Artificial Intelligence and Smart Computing (ICAISC)",International,978-93-92537-02-8,pg12-20,2021 & October
- [5].Dr.N.jagadeesan,,"AN EFFICIENT FPGA IMPLEMENTATION OF CURVELETS TRANSFORM AND K-NEAREST NEIGHBORS ALGORITHM FOR IMAGE COMPRESSION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# Dr. SULTAN CHOWDHURY

- [1] Dr. Sultan Mahamood Chowdhury, "SOLAR POWER AUTOMATED MULTITASKING AGRICULTURAL ROBOT,", Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg223-240, April 2022
- [2] Dr. Sultan Mahamood Chowdhury, "LORA BASED WIRELESS SENSORS FOR SMART ENVIRONMENT, ",The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 780-788, April 2022
- [3] Dr. Sultan Mahamood Chowdhury, "FACE MASK PREDICTION AND ALERTING FOR SECURITY IN CCTV", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 155-161, April 2022.
- [4] Dr. Sultan Mahamood Chowdhury, **IOT BASED PREGNANCY WOMEN HEALTH MONITORING SYSTEM FOR PRENETAL CAR**", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

[4]Dr.S. M. Chowdhury, "On the impact of BCH and RS code on characteristic distance in MI based wireless underground sensor network," AICTE sponsored 7th International Conference on Signal Processing, Communications and System Design (ICSPCOMSD-2022), Hyderabad, India, 28th-29th January 2022, pp. 11-17.

# **Dr.SANGEETHA**

#### **INTERNATIONAL/NATIONAL CONFERENCE:**

[1] Dr.Sangeetha,"An Online Context-Aware Machine Learning Algorithm for 5G mmWave Vehicular Communications",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

#### Dr.SUDHAKAR

## **SCOPUS:**

[1] Sudhakar K and S. Kulkarni, "Performance Evaluation of Distance Metric for Copy Move Forgery Detection", in Journal of University of Shanghai for Science and Technology, vol. 23, no. 8, 2021, pp. 45.

## **UGC**:

- [2] Dr. Sudhakar, "AN ADVANCED MONITORING SYSTEM FOR UNDERGROUND MINING USING LIFI TECHNOLOGY", Parishodh Journal, ISSN NO:2347-6648, ISSN NO:2347-6648, Volume XI, Issue IV, pg 83-90, April 2022.
- [3] Dr. Sudhakar, "SMART TRAFFIC MANAGEMENT SYSTEM", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 97-103, April 2022.
- [4] Dr. Sudhakar," **SMART AGRICULTURE USING IOT**", ,The Journal of Information and Computational Science, ISSN: 1548 7741,April 2022.

[5] Dr.Sudhakar,K,"Ultra-wideband fractal antenna using rhombus shaped patch with stub loaded defected ground plane: Design and measurement",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# **SILUMULABABURAO**

#### **UGC**:

- [1] S. Babu Rao," RASPBERRY PI BASED VEHICLE NUMBER PLATE RECOGNISATION USING OCR", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 11-20,April2022.
- [2] Prof. S. Babu Rao, "IOT SHIPPING CONTAINER TRACKING, "Journal of Interdisciplinary Cycle Research", ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 632-644, April 2022
- [3] Prof. S. Babu Rao, "IOT BASED PUBLIC WATERING SYSTEM WITH QUALITY MEASUREMENT", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

# **INTERNATIONAL/NATIONAL CONFERENCE:**

[4] S.Babu,"ADVANCED TECHNIQUES FOR AUTOMATIC. SURFACE SEARCH RADAR CORRELATION AND TRACKING", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## KADIRE SUMALATA

### **SCOPUS:**

[1].Sumalatha Kadire,"A Multi Band Conformal Microstrip Patch Antenna With 7 X 1 Array For X Band Application", Vidyabharthi International Inter Displinary Research Journal, Issn-2319-4979, Volume-25, Sp-11, 2021.

- [2] Mrs. K. Suma Latha, "ROAD ANOMALY DETECTION AND DRIVABLE AREA SEGMENTATION USING SELFSUPERVISED LABEL GENERATOR,", Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg241-251, April 2022
- [3] Ms. K. Suma Latha,"TOUCH SCREEN AND ZIGBEE BASED WIRELESS COMMUNICATION ASSISTANT FOR DUMB /ILLITERATES IN AIRLINES", ,The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 755-761, April 2022
- [4] Ms. K. Suma Latha ,"ESP CAMERA BASED ADVANCED ATM CRIME PREVENTION SYTEM WITH EMAIL IMAGE ALERT ",The Journal of Information and Computational Science, ISSN: 1548 7741,April 2022.

- [5].SumalathaKadire,"PARAMETRIC ANALYSIS OF A ULTRA WIDEBAND ELLIPTICAL NOTCHED MULTI-RESONANCE LOWER EDGE CORNER DEFECTED PATCH WITH ENHANCED BANDWIDTH".AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022.
- [6] Sumalatha Kadire, "IMPACT OF FRACTAL GEOMETRY ON MICROSTRIP PATCH ANTENNA UNDER 5G ENVIRONMENT", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

## RAGHAVENDRA KARANAM

## **UGC**:

[1] K. Raghavendra, "RASPBERRY PI BASED GESTURE VOCALISER FOR DUMB PEOPLE USING OPEN CV PYTHON", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 26-34, April 2022.

[2] K. Raghavendra," RFID-GSM BASED SIGNAL JUMP E- CHALLAN AND VEHICLE THEFT ALERT SYSTEM USING RASPBERRY PI,",Journal of Applied Science and Computations,ISSN NO: 1076-5131,Volume IX, Issue IV, pg195-206, April 2022

# INTERNATIONAL/NATIONAL CONFERENCE:

[3] K Raghavendra,"DESIGN OF UWB MONOPLOE MICROSTRIP PATCH ANTENNA BY COMBINING SIERPINSKI AND GIUSEPE PEANO FRACTALS", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

## **ABDUL RAHIM**

## **UGC**:

- [1] Abdul Rahim,"Ultra-wide band microstrip patch with dual U-resonating slot and T-shape design for vehicular communication applications",MuktShabdJournal,volume 11, issue 1, page 91-100,ISSN 2347-3150,2022.
- [2] Abdul Rahim," MACHINE LEARNING FRAMEWORK FOR HYPERSPECTRAL IMAGE CLASSIFICATION USING SUPER-PCA,",Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 683-694, April 2022.
- [3] Abdul Rahim, "ESP CAMERA SMART SHOPPING TROLLEY USING RFID AND QR CODE", The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 771-779, April 2022
- [4] Abdul Rahim,"DESIGN OF WIRELESS SENSOR NETWORK NODE FOR MONITORING FIELD", The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 805-811, April 2022
- [5] Abdul Rahim," **INTELLIGENT VEHICLE BLACK BOX USING IOT**", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[6] Abdul Rahim, "LTRA-WIDE BAND MICROSTRIP PATCH WITH DUAL URESONATING SLOT AND T-SHAPE DESIGN FOR VEHICULAR

**COMMUNICATION APPLICATIONS**", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## RAMYA KRISHNARAJAVOLU

#### INTERNATIONAL/NATIONAL CONFERENCE:

[1] Ramya Krishna,"MULTI VARIATE TIME SERIES FORECASTING ON SENSORY DATA", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## **GOPADI HARISH**

#### **UGC**:

- [1] G Harish,, "SCHOOL CHILDREN SAFETY AND SECURE SYSTEM USING B-19 RF COMMUNICATION", ,Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.
- [2] G Harish,," "SMART FOOTWEAR AND SAFETY BAND FOR WOMEN", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

- [3] G Harish, ""WIRELESS COMMUNICATION CHANNEL ESTIMATION USING DWT BASED MIMO-OFDM SYSTEM", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022
- [4]G. Harish Kumar,"GARBAGE DUSTBIN MANAGEMENT SYSTEMUSINGIOT", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

#### **VEMULA POORNIMA**

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] V Poornima, "Multiple Bandwidth Design of Micro strip Antenna for Future Wireless Communication" AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### HASYAPU BHAGYALAKSHMI

## UGC:

[1] H. Bagya Lakshmi," INTELLIGENT AUTOMATIC CAR WASHING SYSTEM WITH SENSOR", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 59-64, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[2].Bhagyalakshmi,"Analysis of Signal Propagation in Vehicular Communications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

# **SUPRITA G**

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] Suprita,"A **High Gain Elliptical Slot Antenna for Lower C-band and X-band Application**",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# DOREDLA RAMAKRISHNA

- [1] Rama Krishna, "CLASSIFICATION OF 12 CANCER TYPES THROUGH GENE NAME DEEP LEARNING, ",Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 716-722, April 2022
- [2] Rama Krishna," AUTOMATIC DRIP IRRIGATION SYSTEM USING SOLAR POWERED SYSTEM ALTERNATE WATER STORAGE", The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 718-721 April 2022

[3] D Ramakrishna,"A High Gain Elliptical Slot Antenna for Lower C-band and X-band Application"AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## MANDADAPU SRUTHI

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] Sruthi,"A Design of Microstrip Patch Antenna using hybrid fractal slot for wideband applications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

# **KOMMULA SAHITHYA**

- [1] K.Sahithya,"MACHINE LEARNING ALGORITHM FOR HOME AUTOMATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022
- [2]kSahithya, "DESIGN OF LOW POWER 4-BIT MULTIPLIER WITH FULL-SWING GDI TECHNIQUE", AICTE Sponsored 7th International Conference of Signal

Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

#### SIRIMALLE SRIKANTH

#### UGC:

- [1] Srikanth, "STUDENT PERFORMANCE ANALYSIS BEHAVIOR USING UNSUPERVISED APPROACH," ,Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 708-715, April 2022
- [2] S. Srikanth, "REAL TIME OBJECT TRACKING WITH MACHINE LEARNING ALGORITHMS", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[3] S. Srikanth ,"Garbage Dustbin Management System using IOT", AICTE Sponsored 7<sup>th</sup> International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.

## **MUTHYALA ARUNA JYOTHI**

- [1] M. ARUNA JYOTHI,"MACHINE LEARNING ALGORITHM FOR HOME AUTOMATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022
- [2] M.ArunaJyothi, "DESIGN OF LOW POWER 4-BIT MULTIPLIER WITH FULL-SWING GDI TECHNIQUE", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## ANUSHA KARANAM

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] AnushaK,"An Ultra-Compact FourPort 4×4 Superwideband MIMO Antenna including mitigation of Dual notched bands" AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

### PUVVADA SPANDANA

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] P Spandana,"A printed expanded graphite paper based dual band antenna forconformal wireless applications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## **BALIJA ADHITHYA**

## **UGC**:

[1] B.Adhithya, "LIFI BASED DATA TRANSMISSION SYSTEM, ",Journal of Applied Science and Computations, ISSN NO: 1076-5131,Volume IX, Issue IV, pg266-271, April 2022

[2] B.Adhithya, "AUTOMATIC RAILWAY ACCIDENT AVOIDANCE AND RAILWAY GATE CONTROLLING", The Journal of Information and Computational Science, ISSN: 1548 - 7741, April 2022.

- [3] B Adhithya,"AN ENACTMENT OF ADAPTIVE TAXONOMY INVESTIGATION FOR STRAIT ESTIMATION IN MU-MIMO", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022
- [4] B.Adhithya,"A PERFORMANCE TO SCRUTINIZESHARED SPECTRUM AND POWER ALLOCATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### THOTAKURA SWATHI

## **UGC:**

- [1] T. Swathi, "DIMENSIONAL CLUSTERING USING UNSUPERVISED LEARNING METHODOLOGY", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.
- [2] T. Swathi, "GREENHOUSE MONITORING AND CONTROLLING SYSTEM USING INTERNET OF THINGS", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[3] T Swathi,"A CLASSIFICATION APPROACH OF TERNARY 2-BIT ADDER", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## PATIL DEEPIKA

[1] DeepikaPatil,"An Ultra-Compact FourPort 4×4 Superwideband MIMO Antenna including mitigation of Dual notched bands" AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

## PERKA NARESH BABU

## **UGC**:

- [1] P. NARESH BABU,"SMART HELMET USING RF COMMUNICATION," International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 21-25,April 2022.
- [2] P. NARESH BABU,"SMART VEHICLE MONITORING SYSTEM USING IOT, ",Journal of Applied Science and Computations,ISSN NO: 1076-5131,Volume IX, Issue IV, pg207-222, April 2022

## INTERNATIONAL/NATIONAL CONFERENCE:

[3] P NareshBabu,"AN ENACTMENT OF ADAPTIVE TAXONOMY INVESTIGATION FOR STRAIT ESTIMATION IN MU-MIMO", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022.

## **EDUNURI SWATHI**

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] E Swathi, "SUPER-RESOLUTION TECHNIQUE A NOVEL APPROACH USING WAVELET TRANSFORM AND SPARE CHARACTERIZATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## **EDE PRASHANTHI**

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] E Prashanthi, "Multiple Bandwidth Design of Micro strip Antenna for Future Wireless Communication", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

# **AILENI BHANU**

**UGC** 

[1] A.Bhanuchander ,"SECURING HUMAN FACE BY RECOGNITION TECHNIQUES USING ARTIFICIAL NEURAL NETWORKS,"Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg280-287, April 2022

[2] A.Bhanuchander ,"QUICK SERVICE RESTAURANTS USING AI AND ANDRIOD APPLICATION" ,Science, Technology And Development Journal, ISSN NO: 0950-0707,April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[3] A.Bhanuchander,"CROSSTALK AND DELAY PROFILES IN VLSI INTERCONNECT STRUCTURES WITH PARTIALLY COUPLED LINES FOR COMPREHENSIVE EVALUATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

# SERIGUDEM MAHESH REDDY

- [1] S. Mahesh Reddy, "CHILD SAFETY SYSTEM IN SCHOOL BUS TRANSPORTATION", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 53-58, April 2022.
- [2] S. Mahesh Reddy, "INTELLIGENT ACCESS CONTROL AND MONITORING SYSTE FOR COLD STORAGES", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 645-650, April 2022.
- [3] S. Mahesh Reddy, "CHARGING STATIONS FOR ELECTRIC VEHICLE USING SOLAR POWER IN SMART CAMPUS PARKING LOT", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 651-656, April 2022

- [4] Mahesh Reddy,"AN ENACTMENT OF ADAPTIVE TAXONOMY INVESTIGATION FOR STRAIT ESTIMATION IN MU-MIMO", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022
- [5] S.MaheshReddy,"A PERFORMANCE TO SCRUTINIZESHARED SPECTRUM AND POWER ALLOCATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

## MADHULATHA THIRUMALA

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] T Madhulatha,"The Impact of Interference From the Side Lanes on mmWave/THz Band V2V Communication Systems With Directional Antennas"AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022.

## KANDULA SUPRIYA

## **UGC**:

[1] K. Supriya, "DEEP LEARNING BASED MULTI MODAL MEDICAL IMAGE FUSION USING PYRAMID DECOMPOSITION", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[2] K Supriya, "SUPER-RESOLUTION TECHNIQUE A NOVEL APPROACH USING WAVELET TRANSFORM AND SPARE CHARACTERIZATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## PALAMARTHI LAXMI

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] LaxmiP,"Reducing Mutual Coupling of Millimeter Wave Array Antennas by Fractal Defected Ground Structure", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## CHINTHARLA TEJASRI

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] CH Tejasri,"Ultra-wideband fractal antenna using rhombus shaped patch with stub loaded defected ground plane: Design and measurement", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

## **NUNEMUNTHALA ROJA**

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] N Roja,"IOT BASED SMART HELMET AND ACCIDENT RECOGNITION TECHNIQUE", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

## **CHETTI VENKATESHWARLU**

## **SCOPUS:**

- [1] ChettiVenkateswarlu ,"A Digital FIR Filter in FPGA Implementation and Performance Comparison",International Journal for Innovative Engineering and Management Research (IJIEMR) INTERNATIONAL JOURNAL,ISSN 2456-5083, Vol 10, issue 8, pg:345-350, August,2021
- [2] ChettiVenkateswarlu, "Improving the performance of FPGA based FIR Filters using DSP", International Journal for Innovative Engineering and Management Research (IJIEMR), INTERNATIONAL JOURNAL, ISSN 2456-5083, Vol 10, issue 11,pg :294-298 November, 2021

## **UGC**:

- [3] Ch. Venkateshwarlu, "PORTABLE ROADSIDE SENSOR SYSTEM FOR VEHICLE CLASSIFICATION AND COUNTING AND SPEED MEASUREMENT", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 35-41, April 2022.
- [4] CH. Venkateshwarlu," **SENSOR BASED PARKING OCCUPATION DETECTING SYSTEM**,", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 678-682, April 2022
- [5] CH. Venkateshwarlu, "SMART FISH AQUACULTURE MONITORING SYSTEM WITH WATER COLOR IDENTIFICATION USING ESP32 CAMERA", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

[6]ChettiVenkateswarlu,"WIRELESS CHANNEL SIMULATION SYSTEM ESTABLISHED ON FEATURE CAPACITY ALSO DATA REPETITION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### **SRAVANTHI NAROJU**

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] SravanthiNaroju,"H-IOT BASED HEALTH MONITORING SYSTEM USING MACHINE LEARNING", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### SHETTY SRAVANTHI

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] S.Sravanthi,"H-IOT BASED HEALTH MONITORING SYSTEM USING MACHINE LEARNING", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

[2] S Sravanthi, "DESIGN OF UWB MONOPLOE MICROSTRIP PATCH ANTENNA BY COMBINING SIERPINSKI AND GIUSEPE PEANO FRACTALS", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### VEMULANAGA MAHESH

- [1] Naga Mahesh, Controlling the crowd of the people using opency and deep learning, Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg288-294, April 2022
- [2] Naga Mahesh, "OPTIMAL ACCURACY BASED CREDIT CARD FRAUD DETECTION USING CLASSIFIER ALGORITHM", The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 722-728, April 2022
- [3] Naga Mahesh, "IDENTIFICATION OF PARKINSON'S DISEASE DETECTION USING DEEP LEARNING", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

- [4] V Mahesh,"VLSI ARCHITECTURE FOR 8-BIT REVERSIBLE ARITHMETIC LOGIC UNIT BASED ON PROGRAMMABLE GATE", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022
- [5] V.NagaMahesh,"LOW POWER CIRCUIT DESIGN FOR FOOTED QUASI RESISTANCE SCHEME IN 45NM VLSI TECHNOLOGY-REVIEW", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# VEERAPANENI NAVYASREE

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] V Navyasree,"Analysis of a Miniaturized Hexagonal Sierpinski Gasket fractal microstrip antenna for modern wireless communications"AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

#### MANNAM RAMARAO

## **UGC**:

- [1] M.Ramarao,"SMART HOME USING MOBILE APPLICATION", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 669-677, April 2022.
- [2] M.Rama Rao," **IDENTIFICATION OF TRESPASSERS IN MILITARY USING ULTRA SONIC RADAR ALERTING SYSTEM**", Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[3] M Ramarao, "Experimental vs. simulation analysis of LoRa for vehicular communications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

## MADAPATI SAI SUNEETHA

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] SaiSuneetha, "Multiple Bandwidth Design of Micro strip Antenna for Future Wireless Communication", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### KAMANURUNAGA DASARADHA

- [1] Naga Dasaradha, "IOT AGRICULTURE ROBOT FOR AUTO PLOUGH SEED AND SPRINCLE", Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg179-186, April 2022
- [2] Naga Dasaradha, "ESP CAMERA BASED QR PASS FOR METRO STATION, ",The International journal of analytical and experimental modal analysis, ISSN NO: 0886-9367, Volume XIV, Issue IV, pg 729-741, April 2022

- [3]K.NagaDasaradha,"VLSI ARCHITECTURE FOR 8-BIT REVERSIBLE ARITHMETIC LOGIC UNIT BASED ON PROGRAMMABLE GATE", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022
- [4] K.NagaDasaradha,,"LOW POWER CIRCUIT DESIGN FOR FOOTED QUASI RESISTANCE SCHEME IN 45NM VLSI TECHNOLOGY-REVIEW", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# **KUMARI ARUNA GOTTAPU**

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] K Aruna,"PSORIASIS PREDICTION USING DIGITAL IMAGE PROCESSING", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

# NAKKA VENKATESH

# **UGC**:

- [1] N. Venkatesh, "IOT AND SENSOR BASED SOLAR ENERGY GENERATION AND UTILIZATION SYSTEM,", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 74-78, April 2022.
- [2] N. Venkatesh, "AN INTELLIGENT HELMET TO DETECT THE MINING HAZARDS", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

[3] N Venkatesh, "LOW POWER AND AREA EFFICIENT ARITHMETIC AND LOGIC UNIT USING GDI TECHNIQUE", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### VIJAYA SHIVAPARVATHI

## **UGC**:

- [1] M. Shiva Parvathi, "ARTIFICIAL INTELLIGENCE FRAMEWORK FOR DETECTION AND CLASSIFICATION OF SKIN CANCER", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 104-117, April 2022.
- [2] M. Shiva Parvathi," **SECURING DATA THROUGH SPEECH STEGANOGRAPHY AND SECRET SHARING SCHEMES**", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[3] V Shivaparvathi, "SMARTER VITALITY ENERGY STRUCTURED HOME AUTOMATION SYSTEM USING IOT", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

## NAMPALLY KARTHIKA VARMA

## **UGC**:

- [1] Karthika, Detecting legitimate URL's using Natural language processing Machine Learning Algorithms, , International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 79-87, April 2022.
- [2] Karthika, "FAKE JOB RECRUITMENT PREDICTION USING ADVANCED MACHINE LEARNING ALGORITHMS", Parishodh Journal, ISSN NO:2347-6648, Volume XI, Issue IV, pg 149-154, April 2022.

[3] Karthika N,"SMARTER VITALITY ENERGY STRUCTURED HOME AUTOMATION SYSTEM USING IOT", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

## **GRANDH LAKSHMI**

### **UGC**:

- [1] M. Adilakshmi, "CONTENT BASED IMAGE RETRIEVAL SYSTEM USING DEEP LEARNING CONVOLUTIONAL NEURAL NETWORKS", "Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.
- [2] M. Adilakshmi, "ML BASED SURVILLIANCE SYSTEM FOR DETECTION OF BYKE RIDE WITHOUT HELMET", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[3] AdiLaxmiG,"Crosstalk and delay profiles in vlsi interconnect structures with partially coupled lines for comprehensive evaluation",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

# **KULKARNI BHARGAVI**

# **SCOPUS:**

[1] CP Bhargavi, "A Study on Various Approaches in Designing Ternary Half Adder", IEEE, 1-9,2021

[2] C P Bhargavi, "A Sowjanya and P Manga Rao, Design and analysis of 32 bit high speed carry select adder", Journal of Physics: Conference Series, volume 1916, pg 12006, 2021

**UGC**:

[3] Bharghavi, Vehicle tracking and speed estimation using open cv And Digital Library, "Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg272-279, April 2022

# **INTERNATIONAL/NATIONAL CONFERENCE:**

[4] C P Bhargavi,"A CLASSIFICATION APPROACH OF TERNARY 2-BIT ADDER", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

#### **V SUSHMA**

**UGC**:

[1] V. Shushma, "FINGERPRINT BASED VEHICLE SECURITY USING GSM ALERT,", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 661-668, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[2] V Sushma," Implementation of low power Viterbi decoder with modified SMU for TCM Applications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

**DIDDI SARITHA:** 

- [1] D Saritha ,"Low Profile 'PIFA' 4G Antenna", International Journal of Scientific and Research Publications, Volume 11, Issue 12, December 2021 245 ISSN 2250-3153, DOI: 10.29322/IJSRP.11.12.2021.p12034.
- [2] D.Saritha," MEMS BASED SOLAR WHEEL CHAIR,", Journal of Interdisciplinary Cycle Research, ISSN NO: 0022-1945, Volume XIV, Issue IV, pg 657-660, April 2022
- [3] D. Saritha, "PORTABLE ROADSIDE SENSORS FOR VEHICLE COUNTING AND SPEED MEASUREMENT", "Science, Technology And Development Journal, ISSN NO: 0950-0707, April 2022.

[4] D Saritha,"PLANAR INVERTED-F ANTENNA(PIFA) IN MOBILE COMMUNICATION", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022

# **SANJANA MATHEW**

## **SCOPUS:**

[1] Sanjana Mathew, V.A.ShankarPonapalli"Implementation of Various Modulation Techniques using Scilab: A User-Friendly Solution" in 12th International conference on Computer Communication and Informatics, January 25th-27th ,2022.

# **UGC:**

- [2] Sanjana Mathew, "SMART DOOR BIOMETRIC OTP BASED METHODS AND NFC BAND", Journal of Applied Science and Computations, ISSN NO: 1076-5131, Volume IX, Issue IV, pg187-194, April 2022
- [3] Sanjana Mathew, "ANTI THEFT ATM SECURITY AND REPORTING SYSTEM", The Journal of Information and Computational Science, ISSN: 1548 7741, April 2022.

# INTERNATIONAL/NATIONAL CONFERENCE:

[4] Sushma "Sanjana Mathew, "Implementation of low power Viterbi decoder with modified SMU for TCM Applications" in AICTE Sponsored 7th International Conference in Signal Processing communications and system design (ICSPCOMSD-2022) from January 28th-29th,2022.

#### **K.THRISANDHYA**

UGC:

[1] K. Thrisandhya," LORA BASED MILITARY SECURITY MONITORING SYSTEM, ", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 65-73, April 2022.

[2] K. Thrisandhya ,"ASSISTIVE COMMUNICATION FOR BLIND PEOPLE USING RASPBERRYPI" ,Science, Technology And Development Journal, ISSN NO: 0950-0707,April 2022.

## INTERNATIONAL/NATIONAL CONFERENCE:

[3] K TriSandhya,"Multilayer array antennas with integrated frequency selective surfaces conformal to a circular cylindrical surface",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022

## **SATHISH**

UGC:

[1] Sathish, "CRIME RATE ANALYSIS UTILIZING UNSUPERVISED LEARNING BY K-MEANS MACHINE LEARNING,", International Journal of Research, ISSN NO:2236-6124, Volume XI, Issue IV, pg 95-102, April 2022.

#### INTERNATIONAL/NATIONAL CONFERENCE:

[2] Sathish,"An Ultra-Compact FourPort 4×4 Superwideband MIMO Antenna including mitigation of Dual notched bands", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022.

# **BONAGIRI SHILPA**

[1] B Shilpa,"A printed expanded graphite paper based dual band antenna forconformal wireless applications", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022.

#### SAKHAMURI SRAVANTHI

# INTERNATIONAL/NATIONAL CONFERENCE:

[1] S Sravanthi,"Dual band compact fractal THz antenna based on CRLH-TL and grapheneloads",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022.

#### RANJITH REDDY

## INTERNATIONAL/NATIONAL CONFERENCE:

[1] RanjithReddy,"Elliptical ring terahertz fractal antenna",AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women.,February 2022.

## **MURALI KRISHNA**

#### **INTERNATIONAL/NATIONAL CONFERENCE:**

[1] MuraliKrishna,"Four Arm Windmill Shaped SuperwidebandTerahertzMIMO Fractal Antenna", AICTE Sponsored 7th International Conference of Signal Processing, Communications and System Design-2022(ICSPCOMSD-2022), ISBN: 978-93-90631-95-7, Organized by Malla Reddy Engineering College for Women., February 2022